Final Exam; F4360; 10:00 Class; Spring, 2000


Name ______________________________

1.  Because of competition from E-tailer Amazon.com, Barnes & Noble’s profits have fallen and become less stable.  What impact will these changes have on Barnes & Noble’s optimal capital structure and why?

2.  
a.  How would you use ratio analysis to evaluate how effectively Barnes & Noble uses its assets?

b.  What would EVA analysis reveal about how effectively Barnes & Noble uses its assets that ratio analysis does not?

3.  
a.  Southern Utilities has typically paid a large dividend to its stockholders.  However, Southern’s CEO has suggested that stockholders would be better off if Southern were to repurchase shares rather than pay dividends.  On what basis can the CEO make these statements?

b.  What is the best way for Southern to go about repurchasing the shares and why?

4.  
a.  You have are considering purchasing some of the $4.5 billion in junk bonds that Bergen Brunswig has just announced that they intend to issue.  These bonds are classified as junk bonds because rating agencies view the risk of default as high.  Why would you consider buying these highly risky bonds?  Justify your answer.

b.  What actions might the management of Bergen want to undertake that would drive the value of your bonds down and why would management have an incentive to take these actions?  Justify your answer.

c.  What would you look for that would make the firm less likely to undertake these actions?  Justify your answer.

5.  For years, Culprit Inc. has analyzed capital budgeting opportunities using internal rate of return.  Today, the CFO of Culprit has announced that beginning today, all capital budgeting opportunities will be evaluated using net present value analysis.  How would you expect Culprit’s stock price to react to this announcement and why?

6.  Your firm, Final Answer Inc., is considering acquiring Jeopardy Inc.   Once Jeopardy is a part of Final Answer it is expected to generate net cash flows of $25,000 per month beginning three months from today.  Net cash flows from Jeopardy are then expected to grow by 4% per month through 2 years from today.  Growth is then expected to slow to 0.25% per month forever.  The beta of Jeopardy is 1.5 and for Final Answer is 1.8.  The market risk premium is expected to be 7.2% and the effective rate on a T-bill is 4.81%.  What is the most your firm should pay to acquire Jeopardy?

7. Assume you are considering purchasing a put on Amazon with a strike price of $55 which expires in May (16 days from now).  Amazon’s current stock price is $58 per share.  Amazon returns are far riskier than the market as a whole as evidenced by the Amazon’s standard deviation of returns of 68% compared to the market’s standard deviation of returns of 22%.  You estimate that the standard deviation on the put is 145% and on a similar call is 129%.  Given the following returns on Treasury securities, what is the value of this put to you?

Rate on Treasury securities by maturity:  1-day=5.08, 8 day=5.17, 15-day=5.17; 22-day=5.26; 29-day=5.39; 1-year=5.49; 30-year=5.43

8.  You have just invested $250,000 in shares of Merck Inc. and $600,000 in Amazon.com.  What is the expected return and standard deviation on your portfolio?


Return on:

Economy
Probability
Amazon
Merck 
S&P500
T-bills
Boom
.25
43
34
38
5.5

Growth
.60
17
18
19
5.5

Recession
.15
-10
-1
-7
5.5

